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	Opening
	Meaning

	2D
	(1) 6~11HCP, weak two bid in H or S, 6 card+ H or S
(2) 20~21 HCP, BAL, may have 5 card m or 5 card M

	2H
	(1) 6~11HCP, weak, two suits H & other suit (maybe S) 55+

(2) When nonVul., May 54+ (5 card H & other suit 4 cards)

(3) When 1st or 2nd seat, H+S 55 & Max, do not open 2H
(4) When 1st or 2nd seat, 54 & Max, do not open 2H

	2S
	(1) 6~11HCP, weak, two suits S & m 55+

(2) When nonVul., May 54+ (5 card S & other suit 4 cards)

(3) When 1st or 2nd seat, 54 & Max, do not open 2S

	2N
	(1) Equivalent to weak 3C opening, long C suit, usually 2-3 law 
(2) 14+, Good two suits 55+ C&D, 2~4 losers (Usually 2 of AKQ in each main suit when partner not passed)

	3C
	(1) Equivalent to weak 3D opening, long D suit, usually 2-3 law

(2) 14+, Good two suits 55+ D&H, 2~4 losers (Usually 2 of AKQ in each main suit when partner not passed)

	3D
	(1) Equivalent to weak 3H opening, long H suit, usually 2-3 law
(2) 14+, Good two suits 55+ H&S, 2~4 losers (Usually 2 of AKQ in each main suit when partner not passed)                     

	3H
	(1) Equivalent to weak 3S opening, long S suit, usually 2-3 law

(2) 14+, Good two suit 55+ S&C, 2~4 losers   (Usually 2 of AKQ in each main suit when partner not passed)                   

	3S
	9-14, any solid 7+card suit AKQXXXX, usually without outside A or K, may have some Q or J, 

	3N
	12-19, any solid 7+card suit AKQXXXX, usually with outside one A or K

	4C
	14+, Good two suits 55+ C&H, 2~4 losers (Usually 2 of AKQ in each main suit when partner not passed)

	4D
	14+, Good two suits 55+ D&S, 2~4 losers (Usually 2 of AKQ in each main suit when partner not passed)

	4H/4S
	Nature, weak 4-level opening, usually 2-3 law

	5C/5D
	Nature, weak 5-level opening, usually 2-3 law


2D Opening: Weak 2H or 2S, or 20-21 HCP BAL
	2D
	2M/3M
	P/C (Pass or Correct). If fit only one M with INV power, bid the worse M first (can not bid 2N). Then, if opener has M’, you can INV with other ways.

	
	3C/3D
	NAT, suit, GF

	
	2N
	ASK, INV or GF (if INV with one of M, cannot bid 2N. If INV with both M, then bid 2N).

Then, new suit (forcing) is NAT or Cue for slam try

	
	4C
	Want to play 4M. Opener bid 4D/4H TR H/S suit.

	
	4D
	Want to play 4M. Opener bid 4H/4S=H/S suit, not TR.

	
	4H/4S
	To play 4H/4S, long H/S, not P/C


	2D
	2H
	P/C

	2N
	
	20-21 HCP, BAL. Then Puppet Stayman and transfer.

	2S
	3m/3H
	NAT, 7+card suit , NF

	
	3S/4S
	PRE/to play

	
	2N
	Fit S, INV 4S


	2D
	2S
	P/C

	2N
	
	20-21 HCP, BAL. Then Puppet Stayman and transfer.

	3C/3D
	
	6 card H, min/Max


	2D
	2H/2S
	

	2N
	
	20-21 HCP, BAL, may have 5 card m or 5 card M

	
	3D/3H/4D/4H
	5+card H/S suit, transfer (4-level TR=6+card). Then bid second suit for slam try. (a) If 5 card M with another 3 card M’, then TR first. (b) If 5 card H and 4 card S, then 3D TR 3H first, and then 3S.

	
	3S
	54+minors; ask minor

	
	3N
	To play

	
	3C
	Puppet Stayman (at least 4 cards or 3 cards M)
If 5 card S & 4 card H, viewed as 44M.

	3H/3S
	
	5 card H/S. Then responder bid
(1) 3S/4H=fit H/S, not show his S/H suit
(2) 4C/4D=RKC with trump C/D, not show control

	3N
	
	No 4 card M

	3D
	
	No 5 card M, at least one M with 4 card

	
	3H/3S
	4 card S/H (reverse).


	2D
	2H/2S
	

	2N
	3D/3H
	20-21 HCP, BAL, may have 5 card m or 5 card M

	3S(to 3D)
	
	No 3 card H, but have 5 card S

	3H/3S
	
	Accept TR, exactly 2 card H/S

	3N
	
	3 card H/S, then reTR 4D/4H=TR H/S

	4C
	
	Supper accept, 4 card H/S, at least 7 controls, 

then reTR 4D/4H=TR H/S

	4D/4S
	
	4 cards H/S


	2D
	2H/2S
	

	2N
	3S
	

	3N
	
	No 4 card minor

	4C/4D
	
	4+card C/D

	4H/4S
	
	Both 4 card minors, H/S control


	2D
	2N
	

	3N
	
	20-21 HCP, BAL, should play at least slam

	3C/3D
	
	Min, H/S suit

	3H/3S
	
	Max, 6+card H/S

	
	New suit
	GF, NAT or Cue for slam try

	
	3M/4M/3N
	To play


	2D
	2N
	

	3N
	?
	Same as 2D  2H/2S  2N  ?   

All are increased one level. At least slam. 
4C=ask M, 4D/4H=TR H/S, 4S=ask m. Then 4N or 5N is RKC


	2D
	3C/3D
	NAT, GF

	3H/3S
	
	NAT, H/S suit, but not fit m, Min or Max

	3D/3N
	
	(to 3C) Fit C, Min/Max

	3N/4C
	
	(to 3D) Fit D, Min/Max

	4N
	
	20-21 HCP, BAL, RKC


Opponents’ Overcall on 2D Opening
	2D
	X
	Pass
	
	At least one M is short (single or void)

	
	
	2H/2S
	
	P/C, both M 2+ card

	
	
	Others
	
	Same as no X


	2D
	2H/2S
	X
	
	P/C. Penalty if opener has long H/S

	
	
	Others
	
	Same as no opp 2H/2S


	2D
	2N/
3-level
	X
	
	Penalty 

	
	
	Others
	
	Same as no opp 3-level


	2D
	P
	2N
	X
	

	Bid
	
	
	
	Same as no X


	2D
	P
	2N
	3C/3D
	

	3H/3S
	
	
	
	Max, 6+card H/S

	P
	
	
	
	Min, H or S suit

	
	P/bid
	bid
	
	P/C


	2D
	P
	2N
	3M
	

	X
	
	
	
	Max, M’ suit

	P
	
	
	
	Min, M’ suit

	
	P/bid
	bid
	
	P/C


Note: If 2D=20-21 BAL, Opener must X on any Oppenent’s bid.
	2D
	P/2H/2S
	P
	2H/2S/P
	

	X
	
	
	
	20-21, BAL

	
	
	P
	
	Penalty

	
	
	2S
	
	(to 2H) to play, weak

	
	
	2N
	
	LEB, relay to 3C

	
	
	3C/3D/3H/3S
	
	TR D/H/S/C suit, INV or GF
Same as 1N (2B) ?


2H/2S Opening

	2M
	3M/4M
	PRE/ to play

	
	3m/4m
	P/C

	
	(to 2H)2S/3S
	P/C

	
	(to 2H)4S
	To play, long S, not P/C

	
	(to 2S)3H/4H
	NAT, normally 7+card H, NF/to play

	
	2N
	ASK, at least INV or GF

	Answer
	
	See below

	
	3M 
	Raise M, INV 4M

	
	4m 
	If m=second suit of opener, then RKC, trump=m

	
	New suit 
	GF, NAT or Cue for slam try


	2H
	2N
	

	3C/3D
	
	H & C/D, Min (if 9-10 & 54, then reply as Min). Then

(1) Responder’s new suit=GF, may be suit, or fit one of opener’s suits & slam try

(2) Responder’s 4C/4D is RKC for trump C/D
(3) 4N is RKC for trump H

	3H
	
	H&S, Min or Max (Max: 55+ & 9-10 HCP).
(1) If responder bid 3S, opener can go to 4S when Max.
(2) Responder’s new suit=GF, may be suit, or fit one of opener’s suits & slam try

(3) Responder’s 4N=RKC for trump S.

(for RKC with trump H, should 2H 4N)

	3S/3N
	
	H & C/D 55+, Max. Then responder
(1) New suit=GF, may be suit, or fit one of opener’s suits & slam try

(2) 4C(for 3S)/4D(for 3N) is RKC for trump C/D
(3) 4N is RKC for trump H


	2H
	2S
	

	3C/3D
	
	H & C/D, Max (Max: 55+ & 9-10 HCP)

	2N
	
	H & m, Min, may C or D

	
	3C/3D
	P/C


	2S
	2N
	

	3C/3D
	
	S & C/D, Min (if 9-10, 54, then reply as Min)

	3H/3S
	
	S & C/D, Max (Max: 55+ & 9-10 HCP)

	
	??
	For all of the opener’s rebids, responder bids further:
(1) New suit=GF, may be suit, or fit one of opener’s suits & slam try

(2) 4C/4D is RKC for trump C/D (fit C/D)

(3) 4N is RKC for trump S


	2H/2S
	2N
	

	3C
	3D
	GF, NAT or Cue for slam try

	3H/3S
	
	2 cards D/3 cards D or 2 cards D with honor

	3N
	
	0 or 1 card D


	2H/2S
	2N
	

	3D
	3S
	GF, NAT or Cue for slam try

	4C/4D
	
	Cue, 3 cards S or 2 cards S with honor

	3N
	
	0 or 1 card S

	4S
	
	2 cards S


Opponents’ Overcall on 2H/2S Opening

	2H/2S
	X
	2S(to 2H)
	
	P/C, 2+ card S

	
	
	Others
	
	Same as no X


	2H
	2S
	X
	
	P/C. Penalty if opener has long S

	
	
	Others
	
	Same as no opp 2S


	2H/2S
	2N/
3-level
	X
	
	Penalty 

	
	
	Others
	
	Same as no opp 3-level


2N/3C/3D/3H Opening

	2N
	3C
	P/C (Pass or correct)

	Pass
	
	Weak 3C opening, 6+C

	3D/3H/3S
	
	Good C&D 55+, 4/3/2… losers. Then new suit (side suit) =CAB. 


	3C
	3D
	P/C

	Pass
	
	Weak 3D opening, 6+D

	3H/3S/3N
	
	Good D&H 55+, 4/3/2… losers. Then new suit=CAB. 


	3D
	3H
	P/C

	Pass 
	
	Weak 3H opening, 7+H

	3S/3N/4C
	
	Good H&S 55+, 4/3/2… losers. Then new suit=CAB.


	3H
	3S
	P/C

	Pass
	
	Weak 3S opening, 7+S

	3N/4C/4D
	
	Good S&C 55+, 4/3/2… losers. Then new suit=CAB.


	2N/3C/3D/3H
	New suit

3H/3S
	NAT, GF, 
(1) If weak opening, opener bid 3N or weak 4-level or raise 4H/4S 
(2) If good two suits, opener bid higher ranking suit (example: open 2N 3H 4D (should bid 4D, not 4C)), or 4N=RKC

	
	3N
	(1) If weak opening, to play

(2) If good two suits, opener bid 4C/4D=4/3 losers

	
	Raise 4-level

or 5-level
	PRE or to play (ex. 2N 4C or 2N 5C)
(1) If weak opening, Opener bid Pass 
(2) If good two suits, opener bid higher ranking suit

(example: 2N 4C 4D=good C&D)

	
	4 or 5-level

new suit
	Fit weak opening suit, CAB, slam try

4D/4H/4S(to 2N)      4H/4S/5C(to 3C)

4D/4S/5C (to 3D)      4D/4H/5C (to 3H)

	
	(to 2N)3D
	Fit C suit, ask short. Then new suit CAB

	
	(to others)4C
	Fit weak opening suit (3C 4C, 3D 4C, 3H 4C), ask short. Then new suit  CAB

	
	4N
	RKC, trump is opening weak suit


	2N
	3D
	

	3H
	
	No short or very weak

	3S/3N/4C
	
	Short in S/D/H

	4D/4H/4S
	
	Good C&D, 4/3/2 losers


	3C/3D/3H
	4C
	

	4D
	
	No short or very weak

	4H/4S/4N
	
	(to 3C) Short in H/S/C  (to 3D) Short in C/S/D

(to 3H) Short in H/C/D

	5C/5D/5H
	
	Good two suits, 4/3/2 losers


	2N
	3H/3S
	NAT, GF

	4H/4S
	
	Weak long C, fit H/S, single raise, better power

	3N
	
	Weak long C, not fit H/S, better power

	4C
	
	Weak long C, not fit H/S, but cannot play 3NT

	4D/4S/4N
	
	(to 3H) Good C&D, 4/3/2 losers

	4D/4H/4N
	
	(to 3S) Good C&D, 4/3/2 losers


	2N/3C/3D/3H
	Overcall(opp)
	X
	Penalty (For any Opp’s overcall on weak 3, X=penalty)


	3C/3D/3H
	X
	P
	
	At most one card in D/H/S

	
	
	3D/3H/3S
	
	P/C, 2+card D/H/S

	
	
	XX
	bid
	

	P
	
	
	
	Weak 3D/3H/3S

	X
	
	
	
	Good two suits, 4 losers

	Others
	
	
	
	(1) higher ranking=good two suits, 3 losers

(2) two higher ranking= good two suits, 2 losers


	3D
	X
	XX
	3S
	

	P
	
	
	
	Weak 3H. Then responder X=PEN

	X/4C/4D
	
	
	
	Good H&S 55+, 4/3/2… losers


	3D
	X
	XX
	P
	

	3S/3N/4C
	
	
	
	Good H&S 55+, 4/3/2… losers

	3H 
	3S/4m
	P
	
	Forcing pass. Require partner to bid 4H if short S/m; bid X if 2+card S/m

	
	
	X
	
	PEN


* If Opener has two good suits, Opener must X or bid on any Oppenent’s overcall.
3S/3N Opening
	3S/3N
	(to 3S)3N
	To play 

	
	4C
	Pass or correct 

	
	4D
	ASK which solid suit. Reply 4H/4S/5C/5D suit.

Then any new suit is CAB

	
	4H/4S/5C/5D
	CAB(ask H/S/C/D ), fit solid suit, or want to be player


4C/4D/4H/4S Opening

	4C
	4H/5C
	To play

	
	4D
	Ask losers

	4H/4S/4N
	
	Good C&H 55+, 4/3/2… losers. Then new suit=CAB, slam try


	4D
	4S/5D
	To play

	
	4H
	Ask losers

	4S/4N/5C
	
	Good D&S 55+, 4/3/2… losers. Then new suit=CAB, slam try


	4M
	New suit
	CAB  (to 4H)4S/5C/5D    (to 4S) 5C/5D/5H

	
	4N
	RKC

	
	5M/6M
	To play


Simple Reply for 2H-2N(not used, only for reference)
	2H
	2N
	

	3C/3D
	
	H & C/D, Min (if 9-10, 54, then reply as Min)

	3H/3S
	
	H&S, Min/Max (Max: 55+ & 9-10 HCP)

	3N
	
	H & m 55+, Max, may C or D
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